
 

  

  

 
UE480−7N

UE480−1N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

04 0,1&26s A 630cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.14
A2=1.0=t
A3=0.0
A4=10.0
∆=0.001

A1=0.02
A2=0.95=t
A3=0.0
A4=10.0
∆=0.001

UE480−2N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s Y 630cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.14
A2=0.93=t
A3=0.0
A4=10.0
∆=0.001

A1=0.0
A2=0.69=t
A3=0.0
A4=10.0
∆=0.001

UE480−3N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s B 630cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.02
A2=0.53=t
A3=0.0
A4=10.0
∆=0.0

A1=0.27
A2=2.54=t
A3=0.0
A4=10.0
∆=0.0

UE480−4N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s R 630cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.16
A2=1.31=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.48=t
A3=0.0
A4=10.0
∆=0.0

UE480−5N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

AD 0,1&26s G 630cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.03
A2=0.56=t
A3=0.0
A4=10.0
∆=0.0

A1=0.01
A2=0.71=t
A3=0.0
A4=10.0
∆=0.0

UE480−6N_1

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

04 0,1&26s A 63cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.09
A2=1.54=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=1.03=t
A3=0.0
A4=10.0
∆=0.003

UE480−7N_1

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s Y 63cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.05
A2=1.29=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=0.96=t
A3=0.0
A4=10.0
∆=0.003

UE480−8N_1

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s B 63cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.01
A2=0.95=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.78=t
A3=0.0
A4=10.0
∆=0.0

UE481−1N_1

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s R 63cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.01
A2=1.08=t
A3=0.0
A4=10.0
∆=0.002

A1=0.0
A2=0.87=t
A3=0.0
A4=10.0
∆=0.002

UE481−2N_1

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

AD 0,1&26s G 63cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.01
A2=0.98=t
A3=0.0
A4=10.0
∆=0.001

A1=0.0
A2=0.79=t
A3=0.0
A4=10.0
∆=0.001

UE481−3N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

04 0,1&26s A 6,3cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.01
A2=1.28=t
A3=0.01
A4=10.0
∆=0.004

A1=0.0
A2=0.91=t
A3=0.0
A4=10.0
∆=0.004

UE481−4N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s Y 6,3cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.02
A2=1.38=t
A3=0.01
A4=10.0
∆=0.004

A1=0.0
A2=0.9=t
A3=0.0
A4=10.0
∆=0.004

UE481−5N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s B 6,3cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.69=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.82=t
A3=0.0
A4=10.0
∆=0.0

UE481−6N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s R 6,3cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=1.08=t
A3=0.0
A4=10.0
∆=0.011

A1=0.0
A2=0.83=t
A3=0.0
A4=10.0
∆=0.011

UE481−7N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

AD 0,1&26s G 6,3cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.02
A2=1.32=t
A3=0.01
A4=10.0
∆=0.002

A1=0.0
A2=0.76=t
A3=0.0
A4=10.0
∆=0.002

UE481−8N_1

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

04 0,1&26s A&G 63cd/m2; pot3
∆L = A4[A1 + A3·L ]t

A1=0.09
A2=1.54=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=1.03=t
A3=0.0
A4=10.0
∆=0.003
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TUB-test chart UE48; threshold data Avramopoulos (89)
tp=0,1s, 4 observ., Lu=630&63&6,3cd/m2, potential A3−fit

input: w/rgb/cmyk −> w/rgb/cmyk−
output: no change

http://130.149.60.45/~farbmetrik/UE48/UE48L0NP.PDF /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/4

see sim
ilar files: http://130.149.60.45/~

farbm
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UE480−7N

UE480−1N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

04 0,1&26s A 630cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.14
A2=1.0=t
A3=0.0
A4=10.0
∆=0.001

A1=0.02
A2=0.95=t
A3=0.0
A4=10.0
∆=0.001

UE480−2N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s Y 630cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.14
A2=0.93=t
A3=0.0
A4=10.0
∆=0.001

A1=0.0
A2=0.69=t
A3=0.0
A4=10.0
∆=0.001

UE480−3N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s B 630cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.02
A2=0.53=t
A3=0.0
A4=10.0
∆=0.0

A1=0.27
A2=2.54=t
A3=0.0
A4=10.0
∆=0.0

UE480−4N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s R 630cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.16
A2=1.31=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.48=t
A3=0.0
A4=10.0
∆=0.0

UE480−5N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

AD 0,1&26s G 630cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.03
A2=0.56=t
A3=0.0
A4=10.0
∆=0.0

A1=0.01
A2=0.71=t
A3=0.0
A4=10.0
∆=0.0

UE480−6N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

04 0,1&26s A 63cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.09
A2=1.54=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=1.03=t
A3=0.0
A4=10.0
∆=0.003

UE480−7N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s Y 63cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.05
A2=1.29=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=0.96=t
A3=0.0
A4=10.0
∆=0.003

UE480−8N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s B 63cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.01
A2=0.95=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.78=t
A3=0.0
A4=10.0
∆=0.0

UE481−1N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s R 63cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.01
A2=1.08=t
A3=0.0
A4=10.0
∆=0.002

A1=0.0
A2=0.87=t
A3=0.0
A4=10.0
∆=0.002

UE481−2N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

AD 0,1&26s G 63cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.01
A2=0.98=t
A3=0.0
A4=10.0
∆=0.001

A1=0.0
A2=0.79=t
A3=0.0
A4=10.0
∆=0.001

UE481−3N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

04 0,1&26s A 6,3cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.01
A2=1.28=t
A3=0.01
A4=10.0
∆=0.004

A1=0.0
A2=0.91=t
A3=0.0
A4=10.0
∆=0.004

UE481−4N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s Y 6,3cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.02
A2=1.38=t
A3=0.01
A4=10.0
∆=0.004

A1=0.0
A2=0.9=t
A3=0.0
A4=10.0
∆=0.004

UE481−5N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s B 6,3cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.0
A2=0.69=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.82=t
A3=0.0
A4=10.0
∆=0.0

UE481−6N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 0,1&26s R 6,3cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.0
A2=1.08=t
A3=0.0
A4=10.0
∆=0.011

A1=0.0
A2=0.83=t
A3=0.0
A4=10.0
∆=0.011

UE481−7N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

AD 0,1&26s G 6,3cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.02
A2=1.32=t
A3=0.01
A4=10.0
∆=0.002

A1=0.0
A2=0.76=t
A3=0.0
A4=10.0
∆=0.002

UE481−8N_2

log(L/∆L) luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

04 0,1&26s A&G 63cd/m2; pot3
log(L/∆L) = L / [A4·(A1 + A3·L )t]
A1=0.09
A2=1.54=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=1.03=t
A3=0.0
A4=10.0
∆=0.003
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TUB-test chart UE48; threshold data Avramopoulos (89)
tp=0,1s, 4 observ., Lu=630&63&6,3cd/m2, potential A3−fit

input: w/rgb/cmyk −> rgbd
output: no change

http://130.149.60.45/~farbmetrik/UE48/UE48L0NP.PDF /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/4

see sim
ilar files: http://130.149.60.45/~

farbm
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UE480−7N

UE480−1N_3

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
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40

x=logL

04 0,1&26s A 630cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.14
A2=1.0=t
A3=0.0
A4=10.0
∆=0.001

A1=0.02
A2=0.95=t
A3=0.0
A4=10.0
∆=0.001

UE480−2N_3

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

02 0,1&26s Y 630cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.14
A2=0.93=t
A3=0.0
A4=10.0
∆=0.001

A1=0.0
A2=0.69=t
A3=0.0
A4=10.0
∆=0.001

UE480−3N_3

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

02 0,1&26s B 630cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.02
A2=0.53=t
A3=0.0
A4=10.0
∆=0.0

A1=0.27
A2=2.54=t
A3=0.0
A4=10.0
∆=0.0

UE480−4N_3

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
  0

10
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40

x=logL

02 0,1&26s R 630cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.16
A2=1.31=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.48=t
A3=0.0
A4=10.0
∆=0.0

UE480−5N_3

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
  0

10

20
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40

x=logL

AD 0,1&26s G 630cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.03
A2=0.56=t
A3=0.0
A4=10.0
∆=0.0

A1=0.01
A2=0.71=t
A3=0.0
A4=10.0
∆=0.0

UE480−6N_3

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
  0

10
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40

x=logL

04 0,1&26s A 63cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.09
A2=1.54=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=1.03=t
A3=0.0
A4=10.0
∆=0.003

UE480−7N_3

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

02 0,1&26s Y 63cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.05
A2=1.29=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=0.96=t
A3=0.0
A4=10.0
∆=0.003

UE480−8N_3

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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02 0,1&26s B 63cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.01
A2=0.95=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.78=t
A3=0.0
A4=10.0
∆=0.0
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02 0,1&26s R 63cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.01
A2=1.08=t
A3=0.0
A4=10.0
∆=0.002

A1=0.0
A2=0.87=t
A3=0.0
A4=10.0
∆=0.002
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AD 0,1&26s G 63cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.01
A2=0.98=t
A3=0.0
A4=10.0
∆=0.001

A1=0.0
A2=0.79=t
A3=0.0
A4=10.0
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04 0,1&26s A 6,3cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.01
A2=1.28=t
A3=0.01
A4=10.0
∆=0.004

A1=0.0
A2=0.91=t
A3=0.0
A4=10.0
∆=0.004
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02 0,1&26s Y 6,3cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.02
A2=1.38=t
A3=0.01
A4=10.0
∆=0.004

A1=0.0
A2=0.9=t
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02 0,1&26s B 6,3cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.0
A2=0.69=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.82=t
A3=0.0
A4=10.0
∆=0.0

UE481−6N_3

L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

02 0,1&26s R 6,3cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.0
A2=1.08=t
A3=0.0
A4=10.0
∆=0.011

A1=0.0
A2=0.83=t
A3=0.0
A4=10.0
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AD 0,1&26s G 6,3cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.02
A2=1.32=t
A3=0.01
A4=10.0
∆=0.002

A1=0.0
A2=0.76=t
A3=0.0
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04 0,1&26s A&G 63cd/m2; pot3
L/∆L = L / [A4·(A1 + A3·L )t]
A1=0.09
A2=1.54=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=1.03=t
A3=0.0
A4=10.0
∆=0.003
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04 0,1&26s A 630cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.14
A2=1.0=t
A3=0.0
A4=10.0
∆=0.001

A1=0.02
A2=0.95=t
A3=0.0
A4=10.0
∆=0.001

UE480−2N_4
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02 0,1&26s Y 630cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.14
A2=0.93=t
A3=0.0
A4=10.0
∆=0.001

A1=0.0
A2=0.69=t
A3=0.0
A4=10.0
∆=0.001
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02 0,1&26s B 630cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.02
A2=0.53=t
A3=0.0
A4=10.0
∆=0.0

A1=0.27
A2=2.54=t
A3=0.0
A4=10.0
∆=0.0
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02 0,1&26s R 630cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.16
A2=1.31=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.48=t
A3=0.0
A4=10.0
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AD 0,1&26s G 630cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.03
A2=0.56=t
A3=0.0
A4=10.0
∆=0.0

A1=0.01
A2=0.71=t
A3=0.0
A4=10.0
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04 0,1&26s A 63cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.09
A2=1.54=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=1.03=t
A3=0.0
A4=10.0
∆=0.003
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02 0,1&26s Y 63cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.05
A2=1.29=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=0.96=t
A3=0.0
A4=10.0
∆=0.003
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02 0,1&26s B 63cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.01
A2=0.95=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.78=t
A3=0.0
A4=10.0
∆=0.0
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02 0,1&26s R 63cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.01
A2=1.08=t
A3=0.0
A4=10.0
∆=0.002

A1=0.0
A2=0.87=t
A3=0.0
A4=10.0
∆=0.002
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T*  luminance difference
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AD 0,1&26s G 63cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.01
A2=0.98=t
A3=0.0
A4=10.0
∆=0.001

A1=0.0
A2=0.79=t
A3=0.0
A4=10.0
∆=0.001
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T*  luminance difference
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04 0,1&26s A 6,3cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.01
A2=1.28=t
A3=0.01
A4=10.0
∆=0.004

A1=0.0
A2=0.91=t
A3=0.0
A4=10.0
∆=0.004
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T*  luminance difference
threshold sum Lg=6,3cd/m2
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02 0,1&26s Y 6,3cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.02
A2=1.38=t
A3=0.01
A4=10.0
∆=0.004

A1=0.0
A2=0.9=t
A3=0.0
A4=10.0
∆=0.004
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02 0,1&26s B 6,3cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.0
A2=0.69=t
A3=0.0
A4=10.0
∆=0.0

A1=0.0
A2=0.82=t
A3=0.0
A4=10.0
∆=0.0
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02 0,1&26s R 6,3cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.0
A2=1.08=t
A3=0.0
A4=10.0
∆=0.011

A1=0.0
A2=0.83=t
A3=0.0
A4=10.0
∆=0.011
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AD 0,1&26s G 6,3cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.02
A2=1.32=t
A3=0.01
A4=10.0
∆=0.002

A1=0.0
A2=0.76=t
A3=0.0
A4=10.0
∆=0.002
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04 0,1&26s A&G 63cd/m2; pot3
T*  = A4[A1 + A ·Lt − 1]
A1=0.09
A2=1.54=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=1.03=t
A3=0.0
A4=10.0
∆=0.003
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TUB-test chart UE48; threshold data Avramopoulos (89)
tp=0,1s, 4 observ., Lu=630&63&6,3cd/m2, potential A3−fit
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